Table 4: Distribution of Retirement Period

Adjustments by Target Probability of
Success

Panel A: Single Household

Target Probability of Success

95% 90% 80% 75%
., 5t 5 5 3 1
£ 25th 5 5 3
g 50th 5 6 5 3
S 75th 6 6 5 4
95th 7 7 6 4

Panel B: Joint Household, Retirement Period Based on Longest Life
Expectancy of Couple

Target Probability of Success

95% 90% 80% 75%
5th 6 6 6 4
= 25th 7 7 7 6
§ 50th 8 8 8 7
g 75t 8 8 8 7
95th 15 11 9 8

Panel C: Joint Household, Retirement Period Based on Joint
Mortality Survival Probability

Target Probability of Success

95% 90% 80% 75%

5th 2 2 2 1

2 25th 3 3 3 2
=

S 50th 3 3 3 2
v

nq-", 75th 4 4 3 2

95th 10 6 4 3



